
EECS 120 Spring 97 MT2 Solutions-Prof. Fearing

Problem 1.
A)

M(f)=(1/2) delta(f-1000)+(1/2)delta(f+1000)

B)

X1(f)=M(f)=(1/2)[delta(f-106+delta(f+106)]
=(1/4)delta(f-106-103)+(1/4)delta(f-106+103)+(1/4)delta(f+106-103)+(1/4)delta(f+106+103)

C)

D)
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E)

Note: All these problems can also be easily done graphically

F)
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G)

Problem 2
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A)

B)

C)
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Problem 3
A)

B)

EECS 120 Sp 97 MT2 Solutions

EECS 120 Spring 97 MT2 Solutions-Prof. Fearing 5



Problem 4
A)

B)

C)
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Problem 5
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Problem 6
A)

B)

C)

D)
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